## **BID TABULATIONS**

Contract No:DH00249

County:Scotland

Replacement of Bridge #43 on SR 1645 (Dixie Guano Rd)

Bid Opening Date: 6/27/2017 at 2:00 PM

					ROWE, LLC		IGER, INC.		CORPORATION
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
1	Mobilization	1	LS	\$29,500.00	\$29,500.00	\$31,000.00	\$31,000.00	\$37,000.00	\$37,000.00
3	Grading	1	LS	\$88,000.00	\$88,000.00	\$88,000.00	\$88,000.00	\$80,000.00	\$80,000.00
4	Supplementary Clearing & Grubbing	1	Acre	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00
5	Incidental Stone Base	15	Ton	\$29.00	\$435.00	\$29.00	\$435.00	\$37.00	\$555.00
6	Asphalt Concrete Base Course, Type B25.0B	475	Ton	\$85.00	\$40,375.00	\$85.00	\$40,375.00	\$109.00	\$51,775.00
7	Asphalt Concrete Intermediate Course, Type I19.0B	250	Ton	\$85.00	\$21,250.00	\$85.00	\$21,250.00	\$119.00	\$29,750.00
8	Asphalt Concrete Surface Course, Type SF9.5A	225	Ton	\$85.00	\$19,125.00	\$85.00	\$19,125.00	\$139.00	\$31,275.00
9	Asphalt Binder for Plant Mix	50	Ton	\$400.00	\$20,000.00	\$400.00	\$20,000.00	\$1.00	\$50.00
10	Steel Beam Guardrail	88	LF	\$17.00	\$1,487.50	\$17.00	\$1,487.50	\$17.00	\$1,487.50
11	Additional Guardrail Posts	5	Ea	\$1.00	\$5.00	\$11.00	\$55.00	\$11.00	\$55.00
12	Guardrail Anchor Units, Type III	4	Ea	\$1,550.00	\$6,200.00	\$1,550.00	\$6,200.00	\$1,550.00	\$6,200.00
13	Guardrail Anchor Units, Type 350	4	Ea	\$1,950.00	\$7,800.00	\$1,950.00	\$7,800.00	\$1,950.00	\$7,800.00
14	Geotextile for Drainage	190	SY	\$2.00	\$380.00	\$2.00	\$380.00	\$4.49	\$853.10
15	Temporary Traffic Control	1	LS	\$5,200.00	\$5,200.00	\$5,500.00	\$5,500.00	\$7,500.00	\$7,500.00
16	ThermoPlastic Pavement Marking Lines (4", 90mils)	1190	LF	\$2.84	\$3,379.60	\$1.40	\$1,666.00	\$2.25	\$2,677.50
17	ThermoPlastic Pavement Marking Lines (4", 120mils)	1,190	LF	\$2.94	\$3,498.60	\$1.50	\$1,785.00	\$2.37	\$2,820.30
18	Permanent Raised Pavement Markers	10	Ea	\$15.00	\$150.00	\$8.00	\$80.00	\$15.00	\$150.00
19	12" Water Line	317	LF	\$159.64	\$50,605.88	\$135.00	\$42,795.00	\$135.00	\$42,795.00
20	Ductile Iron Water Pipe Fittings	650	LB	\$7.10	\$4,615.00	\$6.00	\$3,900.00	\$6.00	\$3,900.00
21	Abandon 12" Utility Pipe	317	LF	\$8.28	\$2,624.76	\$7.00	\$2,219.00	\$7.00	\$2,219.00
22	Trenchless Installation of 12" In Soil	293	LF	\$84.54	\$24,770.22	\$70.00	\$20,510.00	\$70.00	\$20,510.00
23	Temporary Silt Fence	1,155	LF	\$1.00	\$1,155.00	\$1.00	\$1,155.00	\$3.50	\$4,042.50
24	Stone for Erosion Control, Class A	75	Ton	\$1.00	\$75.00	\$1.00	\$75.00	\$66.52	\$4,989.00
25	Stone for Erosion Control, Class B	70	Ton	\$1.00	\$70.00	\$1.00	\$70.00	\$66.52	\$4,656.40

bid\_Tab Page 1 of 6

				SMITH-ROWE, LLC		DELLINGER, INC.		S T WOOTEN CORPORATION	
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
26	Sediment Control Stone	225	Ton	\$1.00	\$225.00	\$1.00	\$225.00	\$25.00	\$5,625.00
27	Temporary Mulching	1	Acre	\$700.00	\$700.00	\$700.00	\$700.00	\$2,000.00	\$2,000.00
28	Seed for Temporary Seeding	100	LB	\$2.00	\$200.00	\$2.00	\$200.00	\$1.00	\$100.00
29	Fertilizer for Temporary Seeding	0.5	Ton	\$700.00	\$350.00	\$700.00	\$350.00	\$800.00	\$400.00
30	Temporary Slope Drains	200	LF	\$3.00	\$600.00	\$3.00	\$600.00	\$5.00	\$1,000.00
31	Safety Fence	800.00	LF	\$1.00	\$800.00	\$1.00	\$800.00	\$2.75	\$2,200.00
32	Silt Excavation	10	CY	\$13.00	\$130.00	\$13.00	\$130.00	\$51.00	\$510.00
33	Matting for Erosion Control	6,610	SY	\$1.00	\$6,610.00	\$1.00	\$6,610.00	\$2.75	\$18,177.50
34	Coir Fiber Mat	100	SY	\$3.00	\$300.00	\$3.00	\$300.00	\$5.50	\$550.00
35	1/4" Hardware Cloth	65	LF	\$2.50	\$162.50	\$2.50	\$162.50	\$3.00	\$195.00
36	Special Stilling Basins	10	Ea	\$1.00	\$10.00	\$364.72	\$3,647.20	\$250.00	\$2,500.00
37	Wattle	70	LF	\$14.00	\$980.00	\$4.00	\$280.00	\$10.00	\$700.00
38	Polyacrylamide (PAM)	15	LB	\$7.70	\$115.50	\$7.70	\$115.50	\$12.00	\$180.00
39	Seeding & Mulching	3	Acre	\$800.00	\$2,400.00	\$800.00	\$2,400.00	\$2,750.00	\$8,250.00
40	Mowing	3.00	Acre	\$75.00	\$225.00	\$75.00	\$225.00	\$500.00	\$1,500.00
41	Seed for Repair Seeding	50	LB	\$3.00	\$150.00	\$3.00	\$150.00	\$2.00	\$100.00
42	Fertilizer for Repair Seeding	0	Ton	\$1,100.00	\$275.00	\$1,100.00	\$275.00	\$1,000.00	\$250.00
43	Seed for Supplemental Seeding	50.0	LB	\$2.00	\$100.00	\$2.00	\$100.00	\$2.00	\$100.00
44	Fertilizer Topdressing	1	Ton	\$800.00	\$600.00	\$800.00	\$600.00	\$1,000.00	\$750.00
45	Impervious Dike	255.00	LF	\$10.00	\$2,550.00	\$10.00	\$2,550.00	\$200.00	\$51,000.00
46	Specialized Hand Mowing	10.00	Mhr	\$18.00	\$180.00	\$18.00	\$180.00	\$75.00	\$750.00
47	Response for Erosion Control	13	Ea	\$1.00	\$13.00	\$1.00	\$13.00	\$50.00	\$650.00
48	Generic Erosion Control Item, Concrete Washout Structure	2.00	Ea	\$435.00	\$870.00	\$435.00	\$870.00	\$1,315.00	\$2,630.00
63	Reinforced Bridge Approach Fill, Sta. 15+28.50 -L-	1	LS	\$6,400.00	\$6,400.00	\$6,400.00	\$6,400.00	\$15,000.00	\$15,000.00
49	Removal of Existing Structure at Station 15+28.50 -L-	1	LS	\$58,090.00	\$58,090.00	\$12,000.00	\$12,000.00	\$38,250.00	\$38,250.00
50	PDA Testing	2	Ea	\$3,300.00	\$6,600.00	\$3,405.00	\$6,810.00	\$4,875.00	\$9,750.00
51	Unclassified Structure Excavation atStation 15+28.50 -L-	1.00	LS	\$3,400.00	\$3,400.00	\$3,400.00	\$3,400.00	\$10,000.00	\$10,000.00
52	Class A Concrete (Bridge)	26	CY	\$848.24	\$22,054.24	\$1,000.00	\$26,000.00	\$1,210.00	\$31,460.00
53	Bridge Approach Slabs,Station 15+28.50 -L-	1.0	LS	\$19,200.00	\$19,200.00	\$45,000.00	\$45,000.00	\$27,500.00	\$27,500.00
54	Reinforcing Steel (Bridge)	3930.0	LB	\$1.11	\$4,362.30	\$1.00	\$3,930.00	\$1.00	\$3,930.00
55	HP 12 x 53 Steel Piles	700.0	LF	\$35.82	\$25,074.00	\$41.00	\$28,700.00	\$54.00	\$37,800.00

bid\_Tab Page 2 of 6

				SMITH-ROWE, LLC		DELLINGER, INC.		S T WOOTEN CORPORATIO	
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID		AMOUNT BID
56	Pile Redrives	10.0	Ea	\$1.00	\$10.00	\$350.00	\$3,500.00	\$100.00	\$1,000.00
57	Vertical Concrete Barrier	110.0	LF	\$107.73	\$11,850.30	\$125.00	\$13,750.00	\$140.00	\$15,400.00
58	Rip Rap Class II (2'-0'' Thick)	180	Ton	\$36.00	\$6,480.00	\$36.00	\$6,480.00	\$88.00	\$15,840.00
59	Geotextile for Drainage	200	SY	\$2.00	\$400.00	\$2.00	\$400.00	\$3.00	\$600.00
60	Elastomeric Bearings	1	LS	\$1,800.00	\$1,800.00	\$6,000.00	\$6,000.00	\$2,100.00	\$2,100.00
61	3'-0" x 1'-9" Prestressed Concrete Cored Slabs	550.00	LF	\$134.59	\$74,024.50	\$225.00	\$123,750.00	\$147.00	\$80,850.00
62	Generic Structure Item, Asbestos Assessment	1	LS	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00
					\$590,493.90		\$624,966.70		\$733,658.80

Bidder No. 1: SMITH-ROWE, LLC

Bidder No. 2: DELLINGER, INC.

Bidder No. 3: S T WOOTEN CORPORATION Bidder No. 4: DANE CONSTRUCTION, INC.

Bidder No. 5: PALMETTO INFRASTRUCTURE INC

bid\_Tab Page 3 of 6

## **BID TABULATIONS**

Contract No:DH00249

County:Scotland

Replacement of Bridge #43 on SR 1645 (Dixie Guano Rd)

Bid Opening Date: 6/27/2017 at 2:00 PM

						PALMETTO INFRASTRUCTURE		
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	TRUCTION, INC.  AMOUNT BID	UNIT PRICE	NC AMOUNT BID	
1	Mobilization	1	LS	\$37,500.00	\$37,500.00	\$40,000.00	\$40,000.00	
3	Grading	1	LS	\$105,000.00	\$105,000.00	\$72,500.00	\$72,500.00	
4	Supplementary Clearing & Grubbing	1	Acre	\$100.00	\$100.00	\$1,000.00	\$1,000.00	
5	Incidental Stone Base	15	Ton	\$50.00	\$750.00	\$75.00	\$1,125.00	
6	Asphalt Concrete Base Course, Type B25.0B	475	Ton	\$85.00	\$40,375.00	\$85.00	\$40,375.00	
7	Asphalt Concrete Intermediate Course, Type I19.0B	250	Ton	\$85.00	\$21,250.00	\$85.00	\$21,250.00	
8	Asphalt Concrete Surface Course, Type SF9.5A	225	Ton	\$85.00	\$19,125.00	\$85.00	\$19,125.00	
9	Asphalt Binder for Plant Mix	50	Ton	\$400.00	\$20,000.00	\$400.00	\$20,000.00	
10	Steel Beam Guardrail	88	LF	\$17.00	\$1,487.50	\$17.00	\$1,487.50	
11	Additional Guardrail Posts	5	Ea	\$11.00	\$55.00	\$11.00	\$55.00	
12	Guardrail Anchor Units, Type III	4	Ea	\$1,550.00	\$6,200.00	\$1,550.00	\$6,200.00	
13	Guardrail Anchor Units, Type 350	4	Ea	\$1,950.00	\$7,800.00	\$1,950.00	\$7,800.00	
14	Geotextile for Drainage	190	SY	\$2.25	\$427.50	\$5.00	\$950.00	
15	Temporary Traffic Control	1	LS	\$8,500.00	\$8,500.00	\$5,200.00	\$5,200.00	
16	ThermoPlastic Pavement Marking Lines (4", 90mils)	1190	LF	\$2.25	\$2,677.50	\$1.84	\$2,189.60	
17	ThermoPlastic Pavement Marking Lines (4", 120mils)	1,190	LF	\$2.37	\$2,820.30	\$1.99	\$2,368.10	
18	Permanent Raised Pavement Markers	10	Ea	\$15.00	\$150.00	\$25.00	\$250.00	
19	12" Water Line	317	LF	\$150.00	\$47,550.00	\$135.00	\$42,795.00	
20	Ductile Iron Water Pipe Fittings	650	LB	\$9.00	\$5,850.00	\$6.00	\$3,900.00	
21	Abandon 12" Utility Pipe	317	LF	\$25.00	\$7,925.00	\$7.00	\$2,219.00	
22	Trenchless Installation of 12" In Soil	293	LF	\$150.00	\$43,950.00	\$70.00	\$20,510.00	
23	Temporary Silt Fence	1,155	LF	\$2.50	\$2,887.50	\$2.50	\$2,887.50	
24	Stone for Erosion Control, Class A	75	Ton	\$40.00	\$3,000.00	\$75.00	\$5,625.00	
25	Stone for Erosion Control, Class B	70	Ton	\$40.00	\$2,800.00	\$75.00	\$5,250.00	

bid\_Tab Page 4 of 6

				DANE CONSTRUCTION, INC.		PALMETTO INFRASTRUCTURE	
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	NC AMOUNT BID
26	Sediment Control Stone	225	Ton	\$35.00	\$7,875.00	\$75.00	\$16,875.00
27	Temporary Mulching	1	Acre	\$1,500.00	\$1,500.00	\$2,000.00	\$2,000.00
28	Seed for Temporary Seeding	100	LB	\$1.00	\$100.00	\$1.00	\$100.00
29	Fertilizer for Temporary Seeding	0.5	Ton	\$800.00	\$400.00	\$800.00	\$400.00
30	Temporary Slope Drains	200	LF	\$10.00	\$2,000.00	\$22.00	\$4,400.00
31	Safety Fence	800.00	LF	\$2.75	\$2,200.00	\$2.75	\$2,200.00
32	Silt Excavation	10	CY	\$50.00	\$500.00	\$35.00	\$350.00
33	Matting for Erosion Control	6,610	SY	\$2.75	\$18,177.50	\$2.75	\$18,177.50
34	Coir Fiber Mat	100	SY	\$5.50	\$550.00	\$5.50	\$550.00
35	1/4" Hardware Cloth	65	LF	\$3.00	\$195.00	\$3.00	\$195.00
36	Special Stilling Basins	10	Ea	\$50.00	\$500.00	\$450.00	\$4,500.00
37	Wattle	70	LF	\$6.50	\$455.00	\$10.00	\$700.00
38	Polyacrylamide (PAM)	15	LB	\$8.00	\$120.00	\$12.00	\$180.00
39	Seeding & Mulching	3	Acre	\$2,750.00	\$8,250.00	\$3,500.00	\$10,500.00
40	Mowing	3.00	Acre	\$400.00	\$1,200.00	\$400.00	\$1,200.00
41	Seed for Repair Seeding	50	LB	\$2.00	\$100.00	\$2.00	\$100.00
42	Fertilizer for Repair Seeding	0	Ton	\$800.00	\$200.00	\$800.00	\$200.00
43	Seed for Supplemental Seeding	50.0	LB	\$2.00	\$100.00	\$2.00	\$100.00
44	Fertilizer Topdressing	1	Ton	\$1,000.00	\$750.00	\$1,000.00	\$750.00
45	Impervious Dike	255.00	LF	\$75.00	\$19,125.00	\$150.00	\$38,250.00
46	Specialized Hand Mowing	10.00	Mhr	\$75.00	\$750.00	\$75.00	\$750.00
47	Response for Erosion Control	13	Ea	\$50.00	\$650.00	\$500.00	\$6,500.00
48	Generic Erosion Control Item, Concrete Washout Structure	2.00	Ea	\$1,750.00	\$3,500.00	\$800.00	\$1,600.00
63	Reinforced Bridge Approach Fill, Sta. 15+28.50 -L-	1	LS	\$8,500.00	\$8,500.00	\$8,500.00	\$8,500.00
49	Removal of Existing Structure atStation 15+28.50 -L-	1	LS	\$49,325.00	\$49,325.00	\$60,000.00	\$60,000.00
50	PDA Testing	2	Ea	\$3,000.00	\$6,000.00	\$4,000.00	\$8,000.00
51	Unclassified Structure Excavation atStation 15+28.50 -L-	1.00	LS	\$12,500.00	\$12,500.00	\$20,000.00	\$20,000.00
52	Class A Concrete (Bridge)	26	CY	\$1,500.00	\$39,000.00	\$1,200.00	\$31,200.00
53	Bridge Approach Slabs,Station 15+28.50 -L-	1.0	LS	\$13,000.00	\$13,000.00	\$30,000.00	\$30,000.00
54	Reinforcing Steel (Bridge)	3930.0	LB	\$1.25	\$4,912.50	\$2.00	\$7,860.00
55	HP 12 x 53 Steel Piles	700.0	LF	\$40.50	\$28,350.00	\$75.00	\$52,500.00

bid\_Tab Page 5 of 6

						PALMETTO INFRASTRUCTURE	
				DANE CONSTRUCTION, INC.		INC	
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
56	Pile Redrives	10.0	Ea	\$75.00	\$750.00	\$600.00	\$6,000.00
57	Vertical Concrete Barrier	110.0	LF	\$100.00	\$11,000.00	\$145.00	\$15,950.00
58	Rip Rap Class II (2'-0" Thick)	180	Ton	\$50.00	\$9,000.00	\$66.00	\$11,880.00
59	Geotextile for Drainage	200	SY	\$2.25	\$450.00	\$5.00	\$1,000.00
60	Elastomeric Bearings	1	LS	\$7,500.00	\$7,500.00	\$12,000.00	\$12,000.00
61	3'-0" x 1'-9" Prestressed Concrete Cored Slabs	550.00	LF	\$185.00	\$101,750.00	\$175.00	\$96,250.00
62	Generic Structure Item, Asbestos Assessment	1	LS	\$600.00	\$600.00	\$4,500.00	\$4,500.00
\$750,015.30							\$801,279.20

Bidder No. 1: SMITH-ROWE, LLC

Bidder No. 2: DELLINGER, INC.

Bidder No. 3: S T WOOTEN CORPORATION Bidder No. 4: DANE CONSTRUCTION, INC.

Bidder No. 5: PALMETTO INFRASTRUCTURE INC

bid\_Tab Page 6 of 6